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BRACHIOSAURUS

Sauropod feature:
small head Where did it live?

lam a
sauropod.

long neck

It used its teeth
for biting veg-
etation, not

for chewing its
food.

Its front legs were
longer than its back
legs, like a giraffe!

It relied on hindgut
fermentation (like a
horse) to process
its food.

How long was it?

20 m

means arm lizard

Fossils found here:

Sauropod feature:

Semi-arid
zones, with
wet and dry

seasons.

Sauropod feature:
long tail

Unlike other sauropods,
brachiosaurus most
likely did not rear up
on its hind legs to feed.

It ate 200-400 kg

of foliage found high
above the ground,
every day.

How heavy was it? What did it eat?

30,000 -
60,000 kg

PLANTS
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Great heights!

Brachiosaurus is estimated to be 9.5 to 13 meters (31 - 43 ft) tall.
But how tall is that really?!

Look at the pictures on the graph below. Read the height of each
and report it at the bottom of the page.
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0 meters

0 meters

Zeus, the Oak tree Giraffe T.rex Yaquinta Lighthouse, Brachiosaurus Telephone School bus

tallest dog 'Scotty' OR pole

'Zeus' the Great Dane, the world's tallest dog is meters tall.

An oak tree grows to an average height of meters tall.

'Forest' the world's tallest giraffe is just over meters tall.

'Scotty' the largest T.rex discovered is estimated to be meters tall.

Yaquina Head Lighthouse, Oregon's tallest lighthouse is meters tall.

The brachiosaurus is estimated to be up to , 3 meters tall.

A telephone pole is usually around meters tall.

A standard school bus is just over meters tall.
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How to draw a brachiosaurus

O

1. Draw circles for the head and the body/trunk.

ARTS & CULTURE COUNCIL

2. Add the neck and tail.

3. Draw the head around the circle and add the legs.

4. Erase the outline circles and color.

Brachiosaurus - 3.3
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Word search with a twist

This word search has a twist. You will need to fill in the 10 missing words from the paragraph about
brachiosaurus to make your own word bank and complete the word search! To help, we have given
you the first letter of each missing word.

The b
period, about 150 million years ago. It was a
__ tail and neck. It was a
, eating only , and no meat. It used its
to strip vegetation from trees rather than chew it. Brachiosaurus was one
dinosaurs, about twice as tall as a giraffe. The first brachiosaurus
was found in was found in Grand River Valley in western Colorado in

1900, in the Morrison Formation.
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Dizzy drinking

Have you ever stood up too quickly and got dizzy? Imagine if
you had to bend your head down to your toes to drink some
water. Now imagine you had to bend and raise your neck the
length of a five-story building to drink!!! Well, that's what
Brachiosaurus had to do. But how did it not get dizzy?

Paleontologists don't have much evidence to understand how
Brachiosaurus and other sauropods drank without fainting. Instead they
compare these tall, long-necked dinosaurs with modern tall, long-
necked animals, namely giraffes.

Giraffes need to have high enough blood pressure to pump blood all the way up to their heads. This
means they have a very large heart (11 kg / 25 pounds) to pump their blood. Giraffes also have
special valves in their carotid arteries (tubes that carry blood from the heart to the brain, neck and
face) to stop blood from sliding back down. Finally, giraffes have a network of blood vessels at the
base of their brain that controls blood pressure to their brain.

Another adaptation that Brachiosaurus and giraffes might share is not needing to drink frequently.

Giraffes only need to drink every few days as they get water from the plants they eat.
Brachiosaurus might also have received enough water from their plant diet to avoid needing to
drink daily.

Answer the following questions after reading about dizzy drinking.

1. What animal do paleontologists compare Brachiosaurus to when trying to understand how they

used to drink?

2. Name two ways giraffes bodies have adapted to avoid getting dizzy when drinking.

3. How could Brachiosaurus avoid needing to drink every day?
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Dinosaur Eggs

All dinosaur babies came from eggs. It seems reasonable to think
that large dinosaurs like Brachiosaurus laid the largest eggs, but a
dinosaur's egg size doesn't tell us about the adult's size.

Brachiosaurus and other sauropods usually weighed about 5 kg (11
pounds) when they hatched. That's about as heavy as a house cat.
So Brachiosaurus did not start out very big, instead it grew really
fast!

Share the eggs equally between the nests. Put half of the eggs in one nest.

Draw the correct number of eggs in each Draw the correct number of eggs in the nest.

nest. In the circles, write how many eggs are In the circle, write how many eggs are in the
in each nest. nest.

O O O

Put one quarter (1/4) of the eggs in each nest.

Draw the correct number of eggs in each nest. In the circles,
write how many eggs are in each nest.

O
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What do you call a brachiosaurus who is a noisy sleeper?

Answer the riddle by solving the math questions and using the letter key below.

) ® O)
18-9= 21-14= 41+30 = 23 +26 =

®

58 + 13 =
Letter key:

o @ @ ® & ® © ® 6
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The earth is 4.6 billion years old. That's 4,600,000,000 years! That can be a
hard concept to wrap your head around! A lot has happened in that time. In
fact, Earth's history is marked by a series of transformations, mass
extinctions, and geologic changes. Geologists and paleontologists refer to
geologic time as deep time.

There are many ways to represent the enormity of deep time. A popular way
is to use a 24-hour clock to represent all 4.6 billion years. In this example
each minute represents about 3 million years. So if all of Earth's deep
history were squashed into one 24 hour day, the age of dinosaurs, the
Mesozoic, would not start until 10:56 PM!

2 Ma:
First Hominins
230-66 Ma: 4550 Ma:
Non-avian dinosaurs Formation of the Earth
> Hominins
Mammals
c. 380 Ma: - Land plants
First vertebrate land animals Animals
Multicellular life
Eukaryotes 4527 Ma:

c. 540 Ma: Prokaryotes _,Formation of the Moon

Cambrian explosion

c. 4000 Ma: End of the
c. 650-635 Ma: Late Heavy Bombardment;
first life

Marinoan Glaciation
(Snowball Earth event)

c. 716-660 Ma:
Sturtian Glaciation
(Snowball Earth event)

c. 3200 Ma:
Earliest start
of photosynthesis

First major increase in atmospheric oxygen levels;
first Snowball Earth event (Huronian glaciation)
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Get a roll of toilet paper and in one long continuous sheet, count out 46
sheets before tearing it off the roll. You are going to use this long 46-
sheet roll to represent Earth's deep history. Each sheet in your long long
roll represents 100 million years.

At one end of the roll mark the edge 0. This represents now. At the other
end mark the 4600 million years ago (4.6 billion). That represents the
Earth's formation.

Think of your toilet paper roll as a giant number line. Using the lists in the
boxes below, write some important events in Earth history on your toilet
paper roll in the correct places based on when they happened.

Instead of writing million years ago, you can write mya for short!
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